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Grade 9 Academic Math

Unit 2 — Solving Equations, — Part A (Not Including Problem Solving)
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Modified True/False (3 KU)
Indicate whether each statement is #rue or false. 1f false, change the underlined part to make the statement true.

1. F x = 2 is the solution to the equation 4x — 2 =4 — 2x. Change: %Y. = ’\/(

2. E/ “Triple a number reduced by 4 is fifteen” is modelled by 4 — 3n = 15. Change: Bh "4 =/5¢ t)(

3. F ')(The algebraic expression x—7 is equivalentto 7—x. Change: -7+ X /
(mav.y othor answerk
pessible )

Multiple Choice (7 KU)

For questions 4 to 10, select the best answer. Write the letter of your choice in the provided blank space.

4. _Q ‘/ Which is the correct solution for x +2 =-10? -1t =-10
=—12 (b) x =8 () x=8 (d)x=-5

5. b '/y = -2 is the correct solution for which equation?
(@ 2y-5=1 —3=—5 (©)3y+1=5 (d)4y+8=-+4

A

6. C ™~ Andy sells electronic items such as digital music players and cell phones. He is paid $15/h plus
5% commission on sales. Which expression represents Andy’s total earnings?

(a) 0.5¢+15s (b) 0.05¢+15s @15t+0.05s (d) 15¢+0.5s

7. a ‘/ Which of the following equations does not describe a mathematical relationship?

3(x—7):—3x—7 (b) y:2A}:hx (¢) y=mx+b d) A=Iw

8. b \/ The distance, d, in kilometres, a spaceship travels in ¢ hours is given by the formula d = 30000¢.
How long will it take the spaceship to travel 120000 km? & h = Q%0 mund

(a) 4 minutes @ 240 minutes (c) 0.25 minutes (d) 36000000000 minutes

9. d Which of the following equation is not an equation that is solved for the unknown?

(a) 3(x—7):—3x—7 (b) X =x+x () —-8y—-19=—-7 x:x+x

10. b Which of the following is not an identity?
(a) 2x=x+x @x22x+x (©) 2(x—y)=2x-2y (d) x* +3x% =4x’



11. Solve each of the following equations. Remember to show the operation that is performed to each side.

(a) -8y—-19=-7 (3 KU)
. =y-la+19=-7+)9 v
-3y = 12

(b) ~5+7a-8+3a=—-a—16 (4 KU)
“Wa-13 =-a-lb
v 100-13 tar= —g—-ip+a S

_ Na-13 =-1b
. Na-B+13= 16+3 V/

||m=-3{_—% qz__.__s‘/

- lla_. =3 K
A

T ¥

Y AN
(¢) —3(w=5)+11=-43-6w) (5KU)

S BwHS = 34 o S
3wl = -3 1w

. =3w1db-bw= -34 v - bw _~

" Bw e+ =-

U =Bwdb-Ab= -2 -Ab

W "3w:s 'Qq
-3w 24 L we ﬂ-l/
-3 - -= 3

()

_3(]’_ ) =-2 (4KU)

5[‘3(&4)] -5(-2) v

- =3 = -0

12. Solve the following equation. Then check your solution to verify that it is correct. (10 APP)

S5u 1

2u+3
= (u+3)=9-—
Y (wed)=

(The solution is u = 3.)

13,5, G )(wa} 12(2)- 'A(Q)

i e
. b(bu) ‘3(!/\*
. 20u-3u-9 = [03-Fu-1"L

S ATw-0 =G -3u

U 37“-0“80\::%&‘3\‘ +3u vd

. d5u-9% =906

] zsx—qw) qv+a v
. 35u =105
.25_‘1 “’g 2 —> u= 2 v

35

=(p3- 12 (Rui)

loi HQ%FS) ‘/-

7 =3b+ti =-I10
S =3b412-12 = -10-12
o =3b=~aa
’-'3?‘ a3 v
b= -3— v
Left-hand Side Right-hand Side
%“' -g(w3) | 1= ——a;”
-28) - L(313)=q -2(8)+3
= 3
£-4%) 4. et
T = e =
% 4 ;q =
=30 6 =
4 " 4 =9-3
_ <% - ,
- K statin
Since LLHS.= R-HS UN=3 is

the correct Soluhon



13. The square and rectangle shown below have the same perimeter. Use an equation to find the side lengths
of each shape. (6 TIPS)

3x+2

5x+3

P=4(Zx+k
H3xed) P=A5x3) + Alx)

2x -1c for
/ mo’l‘ S‘|0fl' ;nj
, reason
Since fkaf/shape; have {:’& Sam Fenmde")

i (:«i +2) = ;«5im°‘s3 +A(ax)

S+ D = 0arp+ Hx
. l;h(*r%'& |-; x+0
S 1Ax T T = Yy 4 14 /

T =Adx+8 = 6
- -2 8-% =68
N Sala=N
S
- -2
X = v
uare side length
= 3?&2 T‘-'L s%uare
PY! has a side keng th
=5 of 5 umis. ,/
o\ The veclamgle has
Redurﬂ\e leff)"“'\ Re&wgk width A leﬁfh 3 ¥ hHJ
= 5x+3 = Qx and a width ’l}.
= 5143 =2(1) & unjls.

=3 =2



